BT R XFRE DTN

XHEAR | XHES XHAR XHEEE (M)
5838 =& 5/3 KHE/N\+T/N\KREE=X 2,000
5878 BE 5/7 TEREBRAXFTHR 2,000
589H =& 5/9 SMBERZ=E 8,000
5A10H =& 5/11 PTAES SRR -BH= 4,000

% | 581080 =& |5/ #RE/NERBEEREBRS 5,000

| 58148 =& 5/14 BIRIINIRERESR 2,000

5t | 5A16H =& 5/16 LEEABHEHRS 3,000

& | 58178 =8 5/11 REZMREBFHRE 5,000
5A20H =8 5/20 BTN EMEBLOEHRE 8,000

5 | 56A22H e3¢ 5/22 FERTRIMRRRERSBHRE 5,000

A | 5A238 =8 5/23 AEMRREREBHRS 5,000
5A23H RE |5/ BERFITRREXIMEERR-BHRE 5,000
5H24H 2% |5/24 REIESHERTIR 5,000
5A24H e3¢ 5/24 BISKRRIBHRE 5,000
5A27H =8 5/21 BEMIMREHRE -BHRR 5,000
58298 e3¢ 5/29 REZARTERHBRE 5,000
5A30H =8 5/30 EREFEBERE 5,000
58308 =& 5/30 NMEZKVICTHREER-BR 2,000
5A31H =8 5/31 tAKMREBH= 5,000
58318 g |7—F)—HREFEHBOR 30,000

5 A5 &t (204%) 116,000
THTEE RitEE 153,000
X5 H# &%
BE 1 2,000
o =5 18 84,000
e, #HiLF 1 30,000
ZD1th




